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N=4;
g=hilb (N) ;

$for 1=1:4

$for j=1:4
8g(i,3)=1/(i+3j-1);
$end

$end

for i=1:N
y (i)=quad (@ (x)x.~ (i-1) . *sin(x) ,0,1) ;
end

Isyms x;

$for i=1:N

%y (1) =double (int (x* (i-1) *sin(x) ,x,0,1)) ;
send

c=g\y"';
sc=g” (-1)*y';
for i=1:N

a(i)=c(N-i+1);
end

xx=0:.02:1;
plot(xx,sin (xx)-polyval(a,xx),'r')
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clear all;
N=20; M=10;
x=-14+2/N:2/N:1;

y=sin (3*pi*x)+10*cos (2*pi*x) -5*cos (7*pi*x) ;

for k=1:M

a(k)=dot(y,cos (pi*k*x))*2/N;
b (k)=dot(y,sin(pi*k*x))*2/N;
end

al0=sum(y) *2/N;
f=a0/2;
xx=-1:0.02:1;

for k=1:M
f=f+a (k) *cos (pi*k*xx)+b (k) *sin (pi*k*xx) ;
end

subplot(2,1,1)
plot(xx,£f,'-b',x,y, 'or")

subplot(2,1,2)
kk=1:M;
bar(kk,a, 'r');
hold on;

bar (kk,b, 'b') ;
hold off;
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